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= CZICE(F0RFAN2021 EDEICcomputability and logic’DAREFRALEE[CREKEF>THESLTOYILTYT. —EIZEBHETLEY, %
HRVOTHICEVNVTRITNEBHETT.

= "computability and logic" @ Turing machine [&—EIC—2DZ&LHTEFHA. Turing machine D TERIBMEBIV—VTT.
BIZIEM EEWVTAICEK] #BER, T1 28U & TACEK] O220FECHENET. Lo TREBHHIKREHBNET. FEXFIE "1"E"0(EA)" L
MEVFEEA.

n 2K TR TOBEITHELET. SHCHFIOERICRBLTIR T TN TEDACERERN KEEBNET.

 REOHHNZVOTEBRITERLET. (_») TOTSLO M ule IZHEIES.

= TuringMachine®{t4%(& TuringMachine[rules, ¥ i1k &8, step$i] ENFET.
ruleld{q,s}>{q’,s’,dir} (q:IREDIKEE s AYFDTOXF,q  ROKEE, s AY FHEEFALXF, dirAY FOEG AR A, L, BD3EIT,+1,-1,0T
f&3E)
WEAIKEEIZ{{q0,pos} tape} (qO:FFNDIKEE pos: IR HIDAY DL E tape: mADT—TDIKEE) £5NFT.
MathematicaZB#H50D A EE52 hHelpEHE S,

= tapeDWHRIR BB ZE S [tape][CAS>TWNET. MHIREER RN TEETH, MIKICZEANENTN2E U LTREF TR IFICLTTS.

= & OManipulateTldT—7%DUyDUTdragd 3L, BIEOKRESHENDET.

= ##Bprogram
niio3i- ClearAll["Global™ »"]

nioap= (*AYFOBIEZE[] T, REBRBFETERERTS+)
gbracket [x_List] := (+KEB+AYFOEIE. FOY5LDIREEICGoodx)
ReplacePart [x[2], x[1] [2] - Subscript["[" <> ToString [x[2] [X[11[2111 <>"1", x[1, 1111

(»4REEF D TuringMachine [ ] DH A=outlCBMICENIAIE. +)
posF[x_] := FirstPosition[x[All, 1, 1], F][1] -1

turingfout_] :=
Manipulate[
Block [ {now, tape, control, pos, state, contents, boxes},
now = out[step];
tape = now[2];
control = now[1];
pos = control[2];
state = control[1];
boxes = {Line[{{1, @0}, {1, 2}}], Table[Line[{{i, @}, {i+1, @}, {i+1, 2}, {i, 2}}], {i, 1, Length[tape]l}]1};
contents = {Table[Text[Style[tape[[i]], Large], {i+ .5, 1}]1, {i, 1, Length[tape]}],
Green, Polygon[{{pos, -1}, {pos+1, -1}, {pos+1, -.5}, {pos +.5, @}, {pos, -.5}}1,
Black, Text [Style[state, Medium], {pos +©.5, -0.7}]};
Graphics [ {boxes, contents}]], {step, 1, Length[out], 1}]

m main program

nto7= rule = {{1, " "} > {2, " ", 1}, {1, 1} > {2, " ", 0}, {2, " "} > {20," ", 0}, {2, 1} > {3,1,0}, {3," "}>{4," ", 1},
3,1} » {3, 1,1}, {4," "} > {4," ", 1}, {4,1}>{5," ", 0}, {5," "} > {6," ", 1}, {5,1} » {6, 1, 1},
{6, " "} > (30, " ", 0}, {6,1} > {7,1,0}, {7, " "} > {8, " ",1}, {7,1} > (7,1, 1}, {8, " "} > {9, 1, 0},
{8,1} » {8,1,1}, {9," "} > {10, " ", @}, {9, 1} » {9, 1, -1}, {10, " "} > {10, " ", -1}, {10, 1} > {11, 1, @},
{11, " "} -» {12, " ", @}, {11, 1} -» {11, 1, -1}, {12, " "} » {12, " ", -1}, {12, 1} -» {13, 1, -1},
{13, " "} -»> {1, " ", 1}, {13, 1} » {13, 1, -1}, {20, " "} > {20, " ", 1}, {20, 1} > {21, " ", @},
{21, " "} > {22, " ", 1}, {21, 1} » {21, " ", @}, {22, " "} » {F, 1, 0}, {22, 1} » {21, 1, @}, {30, " "} > {30, 1, @},
{30, 1} » {31, 1, -1}, {31, " "} > {31, " ", -1}, {31, 1} » {32, 1, @0}, {32, " "} > {33," ", -1},
{32, 1} » {32, " ", 0}, {33, " "} > {34, " ", 1}, {33, 1} » {32, 1, 0}, {34, " "} > {34, " ", 1}, {34, 1} > {(F, 1, 0}};

niosl- tape = PadRight [PadLeft[{1,1,1,1,1, " ", 1,1, 1}, 20, " "], 30, " "]

pos = FirstPosition[tape, 1][[1]];
outogl= { 5 5 s s s s s s s s »1,1,1,1,1, ,1,1,1, , , , 5 5 5 5 s 5 }
in(110}= minimum = TuringMachine [rule, {{1, pos}, tape}, 89];

gbracket /@ minimum
(*posF [minimum] )

outtil= {{ 5 5 5 5 5 s s s s s 5 [1]1,1,1,1,1, ,1,1,1, 5, L, 5, L, 5 s s s s 1,
T 5 s 5 5 5 5 s 5 s 5> [ 1,4L,1,1,1, ,1,1,1, , 5, 5 5 5 5 5 5 5 )



minimum.nb

}s

>

» 1,1, 1,
»1, 1,1,
» 1,1, 1,
» 1,1, 1,

] [1]2.! 1J 1) 1)
] [1]3.! 1J 1) 1)
] 1: [1]3.! 1) 1)

}s

>

}s

>

}s

>

] 1: 1; [1]31 1)

}s

>

}s

>

>

>

J1J 1; 1;1) [ ]3)1)1)1:

,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,
,1,1,1,1,

B

}s

>

>

>

> [1]4) 1) 1)

B

}s

>

>

>

]5) 1) 1)
3 [1}6) 1)

) [

i)

3

}s

>

)

3

}s

>

B [1}7) 1) >

i)

3

}s

>

B 1) [1]7)
> 1,1, [

i)

3

}s

>

175

i)

3

}s

>

3

}s

>

3 [1}9.;

> 1,1,

i)

3

}s

>

)1) 1) [ ]9) 1J ]
J1e, 1,

> 1,1, [

i)

3

}s

>

B

i)

3

}s

>

>

3 1) [1]10)
3 1) [1]11)

i)

B

}s

>

>

i)

3

}s

>

}s

>

> 1,
> 1,

]11) 1) 1)

]12) 1) 1)

J1J1’1’1) )I:
)I:

»1,1,1,1,

B

}s

>

B

}s

>

) 1: 1; 1; 1) [ ]12)

3

}s

>

}s

>

] 1: 1; [1]131 1)
] 1: [1]13.! 1) 1)
] [1]13.! 1J 1) 1)

}s

>

i)

}s

>

i)

}s
}s

>

]13) 1J 1J 1) 1; >

] [1]1.! 1J 1) 1)

R |:

>

i)

}s

>

i)

]1) 1J 1) 1)
] [1]2.! 1) 1)

B |:

}s

>

i)

}s

>

i)

] [1]3.! 1) 1)

}s

>

i)

] 1; [1]31 1)

}s

>

}s

>

}s

>

> 1,

]4) 1) 1)

}s

>

}s

>

>

]5) 1)

}s

>

}s

>

}s

>

i)

]7) 1J

}s

>

}s

>

}s

>

}s

>

1)

i)

}s

>

EIE)

E)

]9) 1J 1)

}s

>

EIE)

E)

}s

>

}s

>

}s

>

> 1,1,
> 1,1,

Ji1, 1,

B}

}s

>

J12, 1,

B}

}s

>

J125

i)

}s

>

}s

>

i)

}s

>

}s

>

1)

1)

] [1]13.! 1) 1)

}s
}s

>

i)

i)

]13) 1J 1) 1)
] [1]1J 1) 1)

B |:

>

1)

1)

}s

>

1)

]1) 1) 1) >

B |:

}s

>

i)

}s

>

i)

}s

>

}s

>

}s

>

}s

>

> 1,1,

]4) 1)

}s

>

}s

>

}s

>

EIE)

]6) 1J 1) >

B |:



3

minimum.nb

}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
}s
1

>
)
>
>
>
>
>
>
>
>
>
>
>
>
>
>
>
>
>
>

i)
i)
i)
i)
i)

1)
1)
i)
i)
i)

i)
i)
i)

i)

i)
)

)

]30) 1J 1)

] [1]30.! 1J 1)
> 1,1, 1,

> 1,1,1,

> [
]31) 1J 1J 1)
1315
T34
1345
3 [ ]34) 1J 1J 1)
] [1]34.! 1J 1)
] [1]FJ 1J 1)

B
B

i)
i)

132,

i)

1

inimum

step ]

ni12- turing[m

out[112]=
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